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FOREWORD

The Candidates’ Items Responses Analysis Report (CIRA) in the 2019 Arabic
Language subject for the Advanced Certificate of secondary Education
Examination (ACSEE) has been prepared in order to provide feedback to
educational administrators, school managers, teachers and other stakeholders on
candidates’ abilities in the Arabic Language subject.

The ACSEE is a summative evaluation which, among other things, shows the
effectiveness of the education system in general and the educational delivery
system in particular. Essentially, the candidates’ responses to the examination
questions is a strong indicator of what the education system was able or unable to
offer to candidates in their two years in Advanced Secondary Education in the
Arabic Language subject.

The analysis presented in this report intends to enhance understanding of
candidates’ responses in Arabic Language subject. The report highlights the
factors that made the candidates to score both high and poor marks in the
National Examination. The factors for higher marks include the ability to
interpret the requirements of the questions, the ability to follow instructions as
well as their adequate knowledge on the concepts related to Arabic Language.
The factors attributed to poor performance are failure to identify the demands of
the questions, inability to express themselves in Arabic Language and inadequate
knowledge of the concepts, principles and rules related to the subject.

The feedback provided in this report intends to enable education administrators,
school managers, teachers, candidates and other education stakeholders to
identify appropriate measures to improve teaching and learning in secondary
schools. Consequently, this will improve candidates’ performance in future
examinations administered by the National Examinations Council of Tanzania.

Finally, the council would like to thank the Examination Officers, Examiners and
all those who participated in the preparation and analysis of the data used in this
report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY

iv



1.0

INTRODUCTION

This report is intensive analysis of the performance of candidates who sat for the
Advanced Certificate of Secondary Education Examination (ACSEE) in the
Arabic Language subject in May 2019.

The candidates were tested in such skills as comprehension, grammar, language
use, morphology, composition, rhetoric, response to readings and literature. The
examination had two (2) papers, which are Arabic Language paper 1 and paper 2.
Paper 1 had nine (9) questions distributed in five (5) sections and the candidates
were required to answer five (5) questions by choosing one (1) question from
each section. Question one (1) was compulsory. Conversely, paper 2 had ten (10)
questions distributed in five (5) sections and the candidates were required to
answer five (5) questions by choosing one (1) question from each section. Each
question carried twenty (20) marks.

The analysis of the ACSEE in Arabic Language presents the requirements of
each question and indicates the expected responses from candidates’ questions.
Samples obtained from candidates’ responses are presented in order to provide a
general picture of how the candidates responded to the questions.

The rating of candidates’ performance has been grouped into 'good’, ‘average' or
'poor' and is represented in different colours. In this analysis, if the performance
ranges from 60 to 100 percent is categorized as ‘good’ and is coloured green; 35
to 59 percent is categorized as ‘average’ and is coloured yellow; and 0 to 34
percent is deemed ‘poor’ and is shown by red colour. The overall candidates’
performance is summarised in the Appendix.

A total number of the candidates who sat for the (ACSEE) in Arabic Language in
2019 were 233, of which 188 (80.69%) passed and 45 (19.31%) failed. In 2018,
candidates who sat for the same were 412, of whom 330 (80.10%) passed and 82
(19.9%) failed. This year’s performance has increased by 0.59 percent as
compared to the year 2018.



2.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 1

2.1 Section 1: Comprehension
This section had one question which was compulsory. Candidates were
required to attempt all items of the question. The question carried twenty (20)
marks.

2.1.1 Question 1
The question required the candidates to read the passage and respond to
the questions from the given passage. The passage was about the child
judge.

This question had two parts (a) and (b). In part (a), the candidates were

required to provide short answers to five (5) items given.

1- How was the story of Ali Koja and Hassan the merchant who stole
his dinars?

2- When did the child judge announce that the meeting had begun?

3- What did Ali Koja do when the judge asked him to express his
complaint?

4- What did Hassan the merchant say when the child judge asked him
why did not he return to Ali Koja the dinars he left as deposit to
him?

5- What did the traders say when they were asked: How many years
can you preserve olives from damage.

In part (b), the candidates were required to fill in the blanks with

appropriate information from the passage.

1o and steadfast to play this role
perfectly.

2- Then the judge turned to Ali Koja and said to him:
-------------- , did you bring with it?

3n e and then pretended that he was
looking at it and said: This olive is good!

4- Tell me, traders, ----------mmmmmmmmmmmm e from the
damage?



B e : How long has it stayed
in this jar?

The question was attempted by 233 (100%) candidates. A total of 182
(81.5%) candidates scored from 12 to 20 marks, 43 (15.1%) candidates
scored from 7 to 11.5 marks, while 8 (3.4%) candidates scored from 0
to 6 marks. This shows that the candidates’ performance in this
question was good. Figure 1 shows:

100.00 -
90.00 81.50
80.00 -
70.00
60.00
50.00 -
40.00
30.00 -
20.00 - 15.10

10.00 - 3.40
0.00 - ——— . .
WEAK AVERAGE GOOD
Scores

Percentage of Candidates

Figure 1: The Percentages of the Candidates’ Performance in Question 1.

The candidates who performed well in this question were able to
provide appropriate responses to the five items given. They filled in the
blanks with appropriate information from the passage. For example in
item (a-4), one of the candidates wrote that ( ./ af 4f :Gwa _alilf 4 Ji&
cuidd o) i o dily pud] Uy (gadd] al ¥ 5l A OUS Le ale] ¥ Ul co_gili)
“The merchant Hassan said to him, | have not seen his dinars, and | do
not know what was in the jar, because | did not open it, and | swear to
God on that If you want”.

Another example is item (b-5), where one of the candidates wrote by
filling in the blank with right information as follows; (2 (&7 «Legt JLid
£5 ) odb 4 ciSa oS (il 48y s Y 138) “And he said to them, look at
this olive and tell me: How long has it stayed in this jar”. These
examples suggest that these candidates comprehended the text given




and had adequate comprehension skills. Extract 1.1 shows a sample of a
good response.
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Extract 1.1: A sample of a good response from the candidate who filled in
the blanks with correct information from the passage.

However, there were some candidates who performed poorly in this
question, particularly in part (a) due to inadequate mastery of Arabic
Language. Responses showed that these candidates did not understand
what was written in the passage.

Many of the candidates picked some words or sentences from the
passage and used them as answers without considering meaning and
requirements of the question. For example in item (a-2) which asked:
(fly 4 dudsl) of J6bY) ald slef ) “When did the child judge
announce that the meeting had begun?” One of the candidates wrote
( bt T bl 4l j plty s LBy JiBI S g il ot Ll o JUiBY) (puald Wl ]
o449 “The child judge announced that a meeting had begun and the
child was pretending to be arrogant and steadfast to perfect this role”,
which was wrong. The correct answer was supposed to be ( 2l e/
(blaa] o Jlg¥) asdi ya £ A Lt Sy 48 dedad] of JUBY)) “The child judge
announced that a meeting had begun when he had decided to divide the
roles”.

Another example is item (a-3), which asked: ( 4ub Lo/ LiagS Lo Jod JiLa
fo/ 98 by of ~2lih) “What did Ali Koja do when the judge asked him
to express his complaint”. One of the candidates responded that ( & a7
[ uiand calalf Ladalid il g Ao g L jalill jday of calad) Ga JUbY) 09
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“Then the child judge asked the eyebrow to bring the merchant Hassan
and Ali Koja, then the eyebrow called them and they came” which was
wrong. The expected answer was supposed to be ( ale/ Lags e  iadl
O sl g A Cita La (IS S g clgls diiad dule (i ad 4 len g Lo jdn/ sl
Liud 4% of 4£) “Ali Koja bowed in front of the judge with respect and
prayed for him, and then he told him his entire story with merchant
Hassan and reminded all that happened to him without leaving
anything. Extract 1.2 shows a sample of a poor response.
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Extract 1.2: A sample of a poor response from the candidate who provided

irrelevant answers due to poor mastery of Arabic Language.

2.2 Section 2: Grammar
This section had two questions and the candidates were required to attempt
one question. Each question carried twenty (20) marks.

2.2.1 Question 2
This question had two parts (a) and (b). In part (a), the candidates were
required to identify types of object in the following sentences:

| give charity to the poor and the needy for a desire to please God.
The parade commander stands in front of all the rows.

No, when the earth will be demolished a total demolition.

We have done the examination and harvested of clothes.

| opened the book to make sure if the answers were correct.

6



In part (b), the candidates were required to provide answers for the

following short answer questions:

1- Explain the meaning of passive voice by giving examples.

2- What is the Mamnuwi minaswarf (sl (« £ siaal)?

3- What is demonstrative pronoun? Mention two of them.

4- Mention two of the accusative particles which make present tense in
the accusative case themselves.

5- When will the past tense be built on dhamma (<e</)?

The question was attempted by 157 (67.4%) candidates and their
performance was good, as 106 (67.5%) candidates scored from 12 to 20
marks, 27 (17.2%) candidates scored from 7 to 11.5 marks and only 24
(15.3%) candidates scored from O to 6.5 marks. The candidates’
performance is summarised in Figure 2.
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Percentage of Candidates

Figure 2: The Percentages of the Candidates’ Performance in Question 2

The candidates who performed well in this question understood the
requirements of the question and were able to identify all types of
objects in the given sentences. For example, one of the candidates
provided correct answers as follows: 1- (4a¥ [sedal) “Causative object”
2- (44 Jsedal)) “Adverbial object 3- ((#bat/ Jsedal) “Unrestricted object”
4- (42e Js2dal)) “Concomitant object and 5- (4 Jsedal) “Direct object.

In part b, the candidates were able to explain meaning of the subject of
the passive voice, non-inflected noun («isal/ (o £ sieal), demonstrative

7



pronoun with two examples, mention two of the accusative particles
which make present tense in the accusative case themselves and the
situation where the past tense is formed by dhamma (4ef). For
example, one of the candidates wrote; 1- ( Ja< Jay £ .64 10 acsl 98 Joldlf cuili
4dia s Jeldl) “Subject of the passive voice is a nominqtive that replaces
the subject after deleting it”. For example: (< &% “The door was
opened”. 2- (dadily Jayy cusdlll 8L Y awl 9o cpuall G0 £ siaad) “Non-
inflected noun («ixal/ s £ siedd) is @ name which takes preposition and
does not take Tan-wini (cesid). 3- ( dawly oliva o Jo Lo g8 5 LEYI aud
A odag Ay Jia s fie 5 LAY “Demonstrative pronoun is a word that
points to specific things. For example: this is a girl and these are pens”.
4 (09 -59 — A - A gl £ laal) cuali [ &) 95¥) “The accusative
particles which make present tense in the accusative case themselves
are to - will not - so that — then”. 5- ( 4 culwadl i) falf o dlall Jodll v
delaallyls) “Past tense is formed by dhamma (4e) when it is
connected with plural pronoun”. These responses show that the
candidates had adequate knowledge of Arabic grammar. Extract 2.1
shows a sample of a good response.
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Extract 2.1: A sample of a good response of the candidate who provided
correct answers in all parts of the question.

On the other hand, there were some candidates who performed poorly
in this question. Most of them did not answer correctly in part (a) due to
inadequate knowledge of Arabic grammar. In part (b), the majority of
them failed to provide the meaning of non-inflected noun ( ¢« £iaal/
«iual) and also could not write the situation where the past tense is
formed by dhamma (<Lef).

For example in item (b-2), one of the candidates wrote the meaning of
the morphology after being confused with word («~i~=/) morphology:
(dadstl L] 4 d jay ale 94 i pall) “A science which deals with how words
are formed” instead of (il jauy cusil 80 ¥ acl 98 i wall (1o £ piaal)
“Non-inflected noun (<isall o« fsisd) is a name which takes
preposition and does not take Tan-wini (<=4, Another example in
item (b-5), one of the candidates wrote; ( M/ A&l Lo alall Jodll A
iy il 4 clal) “Past tense is formed by dhamma (<ef) when it is
connected with dual pronoun instead of plural pronoun.



Extract 2.2 shows a sample of a poor response from a script of a

candidate who failed to provide appropriate responses.

Lr-"-—'\/z_” T“;;L)\

Cyre iy ) sk ol Lol )

rC

\‘ - ,./:l -
) _)\» 2\ w(u_w-_}'

g I

P EREY N t
Ju?\_ AR Y ‘L__e)')uh—o I R N e

%

. won -7 7 Vo, s
S \_,v_@j AT S PUAr- TS Sy N L T U
= Y,

Extract 2.2: A sample of incorrect answers from one of the candidates.

2.2.2 Question 3

This question had two parts (a) and (b). In part (a), the candidates were

required to analyse the following underlined words:-
1- Muslims fast in Ramadhan.

2- The man ate delicious food.

3- The provision of greeting is an act of good faith.
4- Fatma: distribute all the prizes and gifts.

5- There are forty students in the classroom.
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In part (b), the candidates were required to provide answers for the

following short answer questions:-

1- When the non-inflected noun is analysed by original sign of
inflection?

2- How is imperative formed?

3- What type of analysis is noun-specific? and what type of analysis is
verb-specific?

4- Mention one place where the object many come before the subject.

5- What is the condition of using defective verbs?

This was the worst performed question in this section. It was attempted
by 76 (32.6) candidates and their performance was poor, as 62 (81.6%)
candidates scored from 0 to 6.5 marks, 12 (15.8%) candidates scored
from 7 to 11 marks and only 2 (2.6%) scored from 12.5 to 15 marks.
The candidates’ performance is summarised in Figure 3.

90.00 4
80.00 -+
70.00 +
60.00 -
50.00 4
40.00 -
30.00 +
20.00 - o

10.00 - F

0.00

15.80

Percentage of Candidates

WEAK AVERAGE GOOD
Scores

Figure 3: The Percentages of the Candidates’ Performance in Question 3

The analysis of candidates’ responses shows that the candidates who
performed poorly in this question were unable to analyse the given
underlined words like subject, object, subject of a nominal sentence,
coupling and specification. Most of them failed to analyse the given
underlined words particularly in item (a-3, 4 and 5).

For example, one of the candidates wrote as follows; 3- ( Jad ;eldd/

4oz iy Ladle g £ 44 1 £ slias) “The providing is present tense” instead of

(cilas g8 9 Lo 428, Ladle g £ 44 10 J24) @ subject of nominal sentence in
11



the nominative case and same time is a governing word. 4- ( J&d ;.5
il Lo A yalad) "Distribute is past tense" instead of an imperative is
built by deleting particle at the end of a word and ( «ibel/ i :g/sf
alll 1oy sqi Cua qia ifY) o 5 el daiil cigaid) “and is connector and
gifts as joined”. 5- (#< :cseL)) "Forty as number" instead of ( :cwe/
il cipaio juad cLlthy gloly £edm Ape j2ig) is a subject in the
nominative case and candidates as object instead of specification”.

On the other hand, there were many candidates who failed to explain
when indeclinable is constructed by original sign, explain how
imperative with weak letters is constructed, mention place of the subject
goes before object and mention condition of defective verbs due to
insufficient knowledge. For example in item (b-1), one of the
candidates wrote; ( Jdd oS M/ dila¥) clSally cipall a £ pinall ot
Eaad) “Non inflection is analysed by original sign, If it will be a
present tense. The correct answer was supposed to be; ( w £siedd ey
Jo daa gf liliaa oIS 1) Liba¥) cilS jally cdpal) “Non inflection ( ce £siaads
«i«al) is analysed by original signs, If it will be a governing word or
will have an article (the)”. Another example in item (b-5), one of the
candidates wrote; ( &duy el cual oo S g3/ ol sadd) Jad] Jae by
) “the condition of using defective verbs is that it a subject in a
nominal sentence and accusative case to the predicate”. The correct
answer was supposed to be, ( &f s oS lel/ Ga lsaiadl) Jad Jae b
Agud g/ A lgadil) “the condition of using defective verbs should be
preceded by negation or similarity”. This shows that the candidates had
adequate knowledge of Arabic grammar. Extract 3.1 illustrates a poor
response in question 3.

12
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Extract 3 1 A sample of a poor response from the candidate who provided
irrelevant answers to all the items except item (a-1 and 2), where he/she
wrote partial correct responses.

Further analysis of candidates’ responses shows that there were some
candidates who performed well in this question. These candidates were
able to analyse the given underlined words as required.

For example, one of the candidates analysed as follows: 1- ( £ Jold
Ladle g g a0 pul Gliaa g allad) jSial) pan 43 Ladall (o 4oid gl ol 42d ) Ladle 4
pal ¥ acl 4Y 5 sl e Ll 4addl o ) “Muslims is a subject in the
nominative case and Ramadhan is a noun came after a preposition”. 2-
(il ipaio Ciai :Iduily 5l dadd duai dodley cipaio 4y Jstda :laled)
“Delicous is an adjective in the accusative case and food is an object in
the accusative case”. 3- ( wilie gby dad 42d) dadley £ o810 Jtia rpld)
S sl g e 4l ciliaa ;p3adlg) “The providing is a subject of nominal

14



sentence in the nominative case and same time is a governing word and
a greeting is a governing word of genitive construction”. 4- ( J&d ;< _is
duai dade g cipais cighra Lluglly cibal) i g/l (i sSud o isa e
ity e 5,34al 4agdh) “Distribute is an imperative which is built by
deleting particle at the end of a word and the word (and) is connector
and gifts as joined”. 5- ( ¥ 4dal oo Ll glally £ 98 00 A pe [Lisa 20 g2t
alled) jSial) paay 3ali) “Forty is a subject in the nominative case and
candidates as specification”.

Furthermore, the candidates were able to explain when indeclinable is
constructed by original signs, explain how imperative with weak letters
is constructed, mention place of the subject goes before object and
mention condition of defective verbs. For example, one of the
candidates wrote: 1- ( o/ tilize SIS 13/ Lila¥l) S jally i pucal) (1o £ piaal) i st
J& Xa) “Non inflection («dsall (s £ siasl) is analysed by original signs,
If it will be a governing word or will have an article (the). 2- ( Jsd v
el i dids e 3Y fieadl se¥) “The imperative which has a weak
letter is formed by deleting a weak™. 3- ( gy il ey £4i 98 jall
Sl Gaisy odll oY) £ 47 pjall Laf awdl) “Genitive case refers to nouns
and imperative case refers to verbs”. 4- ( «is 13/ Jsedall o Jolilf auii cay
4 Jsrdally Suals | e Jeldl) IS 1) ey Jsrdall g Jolil] jusad (ay ¥ (o1l sl
LS 139 Ladan ¥ as ¥ Maie | pads 4 Jsrdall g Joldll (pa JS SIS 1) | ALE Lac
Lail of YU |1 para 4 Jordal) “The object should come before the subject
If:

a) the subject cannot be distinguished from the object.

b) subject is connected with pronoun and object is an apparent noun

c) the object is limited to either or not or the subject.

d) object are connected with pronoun and do not have limit to either”.
5- (geid ) (i ey o gt S 33 Gt el S S b ) “the
condition of using defective verbs should be preceded by negation or
similarity”. This good performance indicates that the candidates had
adequate knowledge of the topic. Extract 3.2 shows a sample of a good
response.
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Extract 3.2: A sample of a good response from the candidate who
analysed correctly all the underlined words except short answers in item
(4 and 5) which are incorrect.

2.3 Section 3: Language Use
This section had two questions and the candidates were required to attempt
only one question. Each question carried twenty (20) marks.

2.3.1 Question 4
This question had two parts (a) and (b). In part (a), the candidates were
required to put (¥) “exception” in the following sentences:-

1- The candidates passed and the neglected did not pass.
17



2- We received the books and did not receive a book.

The planes returned and the two planes did not return.

The candidates attended on time and the candidate was late.
The boy cleaned the clothes and did not clean a hat.

w
1

4

ol
1

In part (b), the candidates were instructed to change the demonstrative
pronouns in the given sentences into singular faminine, dual masculine,
dual feminine, plural masculine and plural feminine.

The question was attempted by 126 (54.1%) candidates. 48 (38.1%)
candidates scored from 12 to 20 marks, which is a good performance.
36 (28.6%) candidates scored from 7 to 11.5 marks, which is an average
performance. 42 (33.3%) candidates scored from 0 to 6 marks, which is
a weak performance. Among the candidates with weak performance, 6
candidates 8 (6.3%) scored 0 mark. The general performance of the
candidates in this question was good, because 84 (66.7%) candidates
scored an average of 35 percent. The overall performance of the
candidates in the question is summarised in Figure 4.

100.00
90.00 -
80.00
70.00 -
60.00 -
50.00
40.00 - 33.30
30.00
20.00 -
10.00

0.00 -

38.10

28.60

Percentage of Candidates

WEAK AVERAGE GOOD
Scores

Figure 4: The Percentages of the Candidates’ Performance in Question 4

The analysis of candidates’ responses indicates that the majority of the
candidates performed poorly in this question. These candidates were
unable to put (¥) “exception” in the given sentences particularly in item
(a-4).

18



For example, the item was; (Hlwal 4 Ladlill saay Lalil JAL) “The
candidates attended on time and the candidate was late”. One of the
candidates wrote; (el 4 ¥/ Ll JAL) “the candidate was late except
on time” which was wrong. The correct answer was supposed to be;
(Juali ¥ dlesall 4 LMl uiaa) “The candidates attended on time except
one candidate. Another example is item (a-1), which was; ( als L3 zeas
Jagal mad) “The candidates passed and the neglected one did not pass”.
One of the candidates wrote; (Jaga! Zai ¥ Ledd za) “All the
candidates passed except the neglected one passes”. The correct answer
was supposed to be; (gl ¥/ iadill mad) “All the candidates passed
except the neglected one”.

Moreover, they could not change demonstrative pronoun in the given
sentence into singular feminine, dual masculine, dual feminine, plural
masculine and plural feminine as required. Most of these candidates
failed to use pronouns properly in the sentences. For example, one of
the candidates incorrectly changed the sentence into plural masculine as
follows; (Liwa 4DIS/ sl /is) “These is children of good manner”
which was wrong. The correct answer was supposed to be; ( #¥.s¥/ ¥
Liva a¢8i)) “These boys have good manners”. This poor performance
shows that the candidates were not familiar with the pronouns tested.
Extract 4.1 is a sample of a poor response.
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Extract 4 1 A sample of a poor response from the candldate who prowded
irrelevant answers in all the items.

Despite the poor performance in this question, there were some
candidates who performed well. These candidates were able to put (¥)
“exception” in the given sentences as required. For example, one of the
candidates provided correct responses as follows; 1- ( ¥ 4wl sad
Jeg-l)) “All the candidates passed except the neglected one”. 2- ( Lialus
s ¥ sty “We received all the books except one book”. 3-( <wle
il §) il sithally <All the planes returned except two planes”. 4- ( s
Jduali ¥) Aawall 4 Lialill) “All the candidates attended on time except one
candidate”. 5- (Ldlalf ¥ wdlall A ciB) “The boy cleaned all the
clothes except the hat”. They also managed to change the demonstrative
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pronouns in the given sentences into singular feminine, dual masculine,

dual feminine, plural masculine and plural feminine as expected.

For example, one of the candidates changed sentence correctly like this;
1- (Liwa Wgd&/ i 238) “This girl has good manners”. 2- ( sl /s
Liva Legdlif) “These two boys have good manners. 3- ( LagddS/ GLidulf lis
4iwa) “These two girls have good manners”. 4- (L ¢S/ IY 9¥) £ ¥ 34)
“These boys have good manners”. 5- (Liwa ogdd&/ clidl £¥38) “These
girls have good manners”. This good performance shows that the
candidates had a good mastery of Arabic Language. Extract 4.2 shows a

sample of a good response.
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correct answers in all the sentences as required.
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Extract 4.2: A sample of a good response from the candidate provided



2.3.2 Question 5
This question had part (a) and (b). In part (a), the candidates were
required to complete sentences by putting suitable words “Al-halu”
(JY) in the following sentences:-
1- larrived at station
2- | drank the juice
3- | ate the orange
4- | saw the train
5- The soldiers returned

In part (b), the candidates were required to change the following
singular nouns (man, woman, newspaper, mother and the neglected
person) into plural form and use them in the meaningful sentences.

This was the worst performed question in this section. It was attempted
by 103 (44.2) candidates and their performance was poor. This is
because 85 (82.5%) candidates scored from 0 to 6.5 marks, 12 (11.7%)
candidates scored from 7 to 11 marks and only 6 (5.8%) scored from 13
to 16 marks. The candidates’ performance is summarised in Figure 5.

100.00 -
90.00 82.50
80.00 -
70.00 -
60.00 -
50.00 -
40.00
30.00 -
20.00 -
10.00 -

0.00 -

BWEAK
AVERAGE
uGOOD

Percentage of Candidates

11.70
5.80

WEAK AVERAGE GOOD
Scores

Figure 5: The Percentages of the Candidates’ Performance in Question 5

The majority of the candidates performed poorly in this question. These

candidates failed to complete the sentences by filling suitable words

“Al-halu” (J&aY) in the blanks. Some of them completed with nouns in

the sentences. Others completed with adverbial of time or place. For
22



example in item (a-2), one of the candidates wrote; (blua watl/ <y )
“I drunk juice in the morning” instead of (L el <) “I drank the
juice while standing up”. Another example is item (a-3), where one of
the candidates wrote (4ebld 41L& uff culS)) “Fatma ate an orange” instead
(deaals U&7 uff calsh) “She ate an acidulous orange”.

In part b, the candidates were given the task of changing singular nouns
into plural form. However, the candidates did not provide the plural
forma as required. They were also unable to use them meaningfully in
the sentences. Yet most of them used the given nouns without clarifying
them into plural form. This shows that they failed to understand the
demands of the question. For example in item (b-1), one of the
candidates wrote (<% Ja s & “The man killed the lion” which was
incorrect. The correct answer was supposed to be (2« Ja_J J& “Men
killed the lion”. Extract 5.1 shows a sample of a poor response.
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Extract 5.1: A sample of a poor response of the candidate who provided
irrelevant answers all the items.

Despite the poor performance, there were some candidates who
performed well in this question. These candidates completed sentences
by filling suitable words “Al-halu” (J&aJ) in the blanks. For example in
item (a-1), one of the candidates wrote; (4L 4haell I cibaj) “T arrived
at the station by riding”. They could also provide the plural of the given
nouns and use them correctly in the sentences as required. For example
in item (b-1), one of the candidates wrote; (Ldas/ cw Losls Jadl £Y50)
“These men came from Arusha”.

Moreover, they were able to provide the plural of (4%) “Mother” as
(<lga¥)) “Mothers” and (5Lsf) “woman” as (8.s«wil/eludl) “Women” and
used them in the sentences as required. This shows that the candidates
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had a good mastery of Arabic Language. Extract 5.2 is a good response
by one of the candidates.
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Extract 5.2: A sample of a good response from the candidate who
provided correct answers to all the items except items (a-5) and (b-2).

2.4 Section 4: Morphology
This section consisted of two questions and the candidates were required to
attempt only one. Each question carried (20) marks.

2.4.1 Question 6
This question had two parts (a) and (b). In part (a), the candidates were
instructed to answer the following questions:-
1- What is defective verb?
2- In which part does the defective verb come with letters “Al-wawu
and al-yau (stdls o/8f)?
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3- How will the gerund of verb (J=8) be, if it has a letter “Hamza”
(é_ie¢) at the end?

4- Give the meaning of a verb mithali with examples.

5- How many types of Al-mujarrad (La</ £/4#? Provide an example
for each.

In part (b), the candidates were required to derive the passive participle
from the following verbs given ( - 3¢/ — frew - 4 — Cids - S5 — Cadedf

g — Pl - dle — cwyg) “Istahabba - Find nice - Akala- eat -
Kashafa-reveal - Mahhada - facilitate samaha- allow - Agh-dda -
prepare - wahaba - donate - gh-agaba- punish - Ista-gh-ana - get help
from - Qawiya - strengthen”.

The question was attempted by 118 (50.6%) candidates and their
performance was generally good, as 41 (34.7%) candidates scored from
12 to 17 marks. 43 (36.5%) candidates scored from 7 to 11.5 marks.
Only 34 (28.8%) candidates scored from 0 to 6.5 marks out of the 20
marks allocated for this question. The overall performance for this
question is summarised in Figure 6.

100.00
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60.00
50.00
40.00
30.00
20.00
10.00
0.00

36.50
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Percentage of Candidates
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Figure 6: The Percentages of the Candidates’ Performance in Question 6

The candidates who scored highly in this question defined defective
verb correctly. They explained the position where the defective verb
appears with letters (s&/s s/#) “Al-waa-wu and al-yaa-uw”. They also
explained how the gerund may be formed by verbs with letter “Hamza”
(égd) at the end. Further, these candidates defined correctly the verb
mithali with appropriate examples. Lastly, the candidates correctly
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identified types of “Al-mujarrad” (Lsa</ £/5) and provide appropriate
example for each type as required.

For example, one of the candidates wrote; 1- ( 4e¥ <uilS Lo g6 (adlilf Jodlf
4le isa) “The defective verb is a verb which has one of these letters
alifu, al-yaauw and al-waa-wu at the end of the verb. 2- ( gl (=flill
pd gl Jads Jod il (A ) padll) g el wad of Jeds Jod il A Sl
e ma) “The defective verb with letter al-wawu which comes with the
measurement fagh-ala - yaf-gh-u-lu or nasara - yan-suru and the
defective verb with letter al-yaauw which comes with the measurement
of fagh-ala - yaf-gh-ilu au dharaba - yadh-ribu. 3- ( Wl " J&é" a¥ cils 13/
0 3] A el lgie yage g " fadi? L <dia) “If the verb is in the measurement
of (J and its verb ends with aliyf, its gerund will be added with letter
at-taau at the end and letter al-yaa-uw will be deleted”. 4- ( g6 Jlol/ Jedl
O -da g sfia e i a o318 SIS La) “The verb mithaali is all the verbs will
have one of these letters al-waa-wu and alyaa-uw at the beginning of
the verb”. For example (c -89 5- (S Laadly 7 a3 s fia ole 57 Ll
e :ha) “Al-mujarrad (Ll £147) is categorized into two types, “Al-
mujarrad” (Laa £l  with three letters (z<) and “Al-mujarrad”
(Laall £15i) with four letters (£e.)”.

Additionally, the candidates were able to derive the passive participle
from the given verbs ( — e «dgdifa — cids o [gsla — ST cCaive — Cnlef
claiua — Glaia) ccidlra — e ccigh po— b g cIha — o) i paca — raw cigas

s -5 88 “|stahabba- Mustahabbu Find nice - be found nice, Akala -
Maakuw-lu eat - be ate, Kashafa- makshuw-fu reveal - be revealed,
Mahhada- mumahhaddu facilitate - be facilitated, samaha- masmuw-h
allow - be allowed, Agh-dda- Mugh-addu prepare - be prepared,
wahaba- mawhuw-bu donate - be donated, gh-agaba- Mugh-agabu
punish - be punished, Ista-gh-ana- Mustagh-anu - get help - be gotten
help from, Qawiya- Mag-wiyyu strengthen - be strengthened” as
required. Extract 6.1 shows a sample of a good response from one of
the candidates.
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Extract 6.1: A sample of a good response from the candidate who derived
verbs correctly from the given gerunds as required.

On the other hand, candidates who performed poorly in this question
failed to define defective verb. They also failed to the position where
the defective verb appears with letters (s&dls s/s/) “Al-waa-wu and al-
yaa-uw”. They also failed to explain how the gerund may be formed by
verbs with letter “Hamza” (é_ie¢f) at the end. Moreover, they did not
identify all “types of “Al-mujarrad” (4s<f g/ and provide
appropriate example for each type.

Most of them provided irrelevant answers. For example in item (b-2),
one of the candidates wrote (e -cud ol 4 AL (o915l (23N “The
defective verb with letter Al-wawu comes with the measurement
Dharaba - yadh-ribu” which was wrong. The correct answer was
supposed to he (sl -sai of Jds -Jad b A b 5 9lal el “The
defective verb with letter Al-wawu comes with the measurement
“Nasara-yan-suru or fagh-la- yaf-ghulu”. Others left the question
unanswered.
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In part (b), the majority of the candidates who performed poorly failed
to derive the passive of the given verbs as required. Many of the
candidates provided irrelevant answers. For example, one of the
candidates used the formation of (Jstds) “Maf-uul” for example, ( -
Cs«q) “Samaha- mas-muuh” allow — be allowed” in all the verbs and
he/she did not realise that some verbs needed to use the formation of the
present tense and the last one letter should be with a vowel “A/-fat-ha”
for example, (Oleiwe -glaiwl) “help — be gotten help” and not ( -Jleia/
Jseiea), Extract 6.2 shows a sample of a poor response.
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Extract 6.2: A sample of a poor response from the candidate who provided
irrelevant answers in all the items.

2.4.2 Question 7
This question had parts (a) and (b). In part (a), the candidates were
instructed to answer the following questions:-
1- What is “Masdar?
2- Define active participle Sl aw/and give two examples.
3- Give one of example of: a) increase by repeating a letter b) increase
by adding a letter.
4- Mention the purpose of forming passive form Jsedal/ ac/
5- With examples, write four - letters measurement with examples.

In part (b), the candidates were required to delete additional morphemes
in the following verbs. ( -kl - gdisa - JjLjilad) - glage) - alaisa) - gl i
Jady) - Ldis) -jlea) - cugaal) “Istir-dhau - Conciliating, lhran-jama -
gathering, Igh-wajaju - bending, Ish-mii-zazi — disgusting, Mur-tafiu -
raising, Tasa-ala - asking, Ih-daudaba —feeling, Ih-maa-rra - red
coloring, Ih-tafadha - keeping and Ir-tahalu- leaving”

The question was attempted by 108 (46.4%) candidates and their
performance was good. 31 (28.7%) candidates scored from 12 to 20
marks, 34 (31.5%) candidates scored from 7 to 11.5 marks and 43
(39.8%) candidates scored from 0 to 6.5 marks. The candidates’
performance is summarised in Figure 7.
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Figure 7: The Percentages of the Candidates’ Performance in Question 7

The candidates who performed well in this question defined correctly
gerund and the active forms Jel/ aw/ They were also able to provide
one example of the increase by repeating a letter and adding a letter.
They were able to clarify the purpose of forming the passive participle
Jsrdal awl The candidates further correctly wrote measurement of four
letters with examples.

For example, one of the candidates wrote 1- ( Sda L 0 Lo 34 sl
Sl e L) “The “Masdar” gerund is an indicative of an event
without time”. 2- ( 4 alf o/ Jadl) 4ie gy o Ao UYL flay acd) 4 Jold) acil
paiay yold s fia oy Cigdl Y dsailly Cgaad 4ag ) “The active
participle is a noun derived from a verb and it does not show the
permanent or continuity of the event acted” for example: judge and
listener. 3- (e shie sedis _p S 636 3) “An example of the increase by
repeating a letter “Rattaba” -Arrange and (8L ;L ;i o il 544 i)
one example of the increase by adding a letter “Shaahada” - Witness.
4- (¥ ga 52 gucallal) UYL 38 Js2dal) sl 46 lua (10 U 440) “The purpose of
forming passive participle is to provide the meaning in brief”. 5- ( oLis/
ALYl ga L) “The measurements with four letters with examples”:
(& A - SLind) g J i3 - Mlad ¢ ol -Jlad) g st - Jlad),

These candidates were also able to delete additional morpheme in the
given verbs as required. For example, one of the candidates wrote
() — pdipe Jlad— jljlad) g6 — glase] aaa — plaia) ) — £l sl
by -Jaiyly bis — Ldia) pes -jles) s cugas) - Jild)
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“Istir-dhau

Radhiya - Conciliating,

Ihran-jama

Har-jama

gathering, Igh-wajaju = Ghi-waja - bending, Ish-mii-zazi = sham-aza —
disgusting, Mur-tafiu = Rafaa - raising, Tasa-ala = Saala - asking, Ih-
daudaba = Hadiba —feeling, Ih-maa-rra = Hamira - red coloring, Ih-
tafadha = Hafidha - keeping and Ir-tahalu= Rahila - leaving”. Extract

7.1 shows a sample of a good response.
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Extract 7.1: A sample of a good response from the candidate who

provided correct answers to all the items.
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Despite the good performance observed, there were some candidates
who performed poorly in this question. These candidates failed to
define the “Masdar” gerund and active participle Je4 aw/ They were
unable to provide an example for the increase by repeating and by
adding letters respectively. They were also unable to clarify the purpose
of forming passive participle Jstdel/ aw/ Furthermore, the candidates
failed to write measurement of four letters with examples

Most of them provided irrelevant answers in items (a-1 and 2). For
example in item (a-1), one of the candidates wrote ( g aw/ 98 taall
dalsll s diag) “The “Masdar” gerund is the name that searches for the
word” instead of (Oba i/ e Sa Lo i La 94 jsaal) “The “Masdar”
gerund is an indicative of an event without time”.

Another example is item (a-2), where one of the candidates wrote ( a«/
S dra Joi e fla al Jeld) “the present participle is the name
formulated from the verb with verb” which was wrong. The correct
answer was supposed to be ( 4is gdy e Ao UYLl lay acl 98 Joldll acl
Eeiwag Jald cfia a9l g gl Y daailly Eigaadl da g o 4 ald gf Jedl) “The
active participle is a noun derived from a verb and it does not show the
permanent or continuity of the event acted”. In item (a-3), most of the
candidates were confused with (< w5464 “The increase by
repeating a letter” and (i 4dLal su4 i) “The increase by adding a
letter” instead they wrote their answers vise vasa. For example, one of
the candidates wrote (ééé “Cut” as the increase by adding a letter
instead of the increase by repeating a letter and (g.»<) “Roll” as the
increase by repeating a letter instead of the increase by adding a letter.

In item (a-4 and 5), many of the candidates provided the answer which
were not related to the demands of the question. For example in item (a-
4), one of the candidates wrote (el A Jdll Ligh “Triple verb
weights more” instead of (=& Jedll GLish four-verb weights. Another
example is item (a-5), where one of the candidates wrote the definition
of (Jsedall acl) “the passive participle” instead of ( aw/ 4&élua (a (& AN
Jsdal) “the purpose of forming passive participle”.
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Furthermore, they were unable to delete additional morpheme from the
given verbs as required. Most of the candidates wrote weights or
measurement of those given verbs instead of deleting additional
morphemes. For example, one of the candidates wrote (Sl - i)
“Ask” and (Jud/ Liia) “Keep” instead of (S -l and (Lds -Liis)),
This poor performance suggests that, these candidates had insufficient
knowledge of Arabic morphology. Extract 7.2 shows a sample of a poor
response.

; i e

Aly 9 .4.4...:\ :9"‘-;;,0:»5.4;;\__ _
| (m.(s—\ 1?—&)\),,9\
] | | el = L
| L cheonl
' ‘_____i ) [X_\_\_r Bak = 'GX J\M
E 3 - N I\J\)‘l 2.8 = %&)ﬁ
ﬁ ] el =pM s
J !
""" \ i e\ = . ;_es\! | ]
0D

v ﬁw

(\b»i u!luld\\ _

i
e 17 __Ujﬂ)ﬁ@, @Q_Q.wg_\____j‘e 3 o n)\ l@)"}
i . L (& \\“\Q _S_D_D_:j_jai Q-»-—}L_L\J_JALLB)A

|
T

L__m_-:hm____#__@{ wwwww SN V=R

e ey e

I
P e —

35



r—
(/-.:_._L_'_\ = (ola
e e g
Az o )\"\_m = \jc‘\{i‘))\\i\w\ =]
A TSR
\"—\)/V\l
-/ J

Extract 7.2: A sample of a poor response from the candidate who
provided weights of the given verbs instead of deleting additional
morphemes.

2.5 Section 5: Composition
This section had two questions; questions 8 and 9. The candidates were
instructed to write essay about the advantages of being a manufacturer and
farmer in the development of the country in question 8 or to write friendly
letter to their friend so as to congratulate him/her for completing his/her
certificate course in question 9. Each question carried twenty (20) marks.

2.5.1 Question 8
Q8: Write an essay on the advantages of being a manufacturer and
farmer in the development of the country.

Data analysis shows that only one candidate attempted this question and
his performance was good. For example, the candidate wrote, ( &/ &«
Lag i) Al s (o S A iy (o 30 Culll LS ity 30 4] SMully (i sl 5 U
il S Uit piaay 4] Ay s 9g il A pileal) T e Lafg 4idled] g daall o 448
Ailisall SLa¥) g il 4 Jaricdi il saliadlg) “One of the advantages of
farming in the development of the country is that it provides with us
some milk. Milk is advantages in that, farms sell it and it is healthy as
well. As for industry, it is advantages in that it produces us with various
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places”. This shows that the candidate had a good command of Arabic
Language.
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Extract 8.1: A sample of the best response on essay writing about the
advantages of industry and farming in the development of the country.
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2.5.2 Question 9
In this question the candidates were required to write friendly letter to
his friend congratulating him for getting his certificate.

This was the worst performed question in this section. It was attempted
by 230 (98.7) candidates and their performance was poor. This because
as 175 (76.1%) of the candidates scored from 0.5 to 6.5 marks. Also 44
(19.1%) candidates scored from 7 to 11.5 marks and only 11 (4.8%)
scored from 12 to 17 marks. The candidates’ performance is
summarised in Figure 8 as follows:

100.00 -
90.00 -
80.00 -
70.00 -
60.00 |
50.00
40.00 -
30.00
20.00
10.00 4.80

0.00 - . : ———
WEAK AVERAGE GOOD

Scores

76.10

19.10

Percentage of Candidates

Figure 8: The Percentages of the Candidates’ Performance in Question 9

On the one hand, the candidates who performed poorly in this question
failed to write friendly letter to their friends congratulating them for
getting their certificates. Most of the candidates managed to write
correctly the address, date and greetings. They failed to express the
intentions of letter. Some of the candidates repeated the question. Some
of them provided unclear explanation while a few of them copied some
words from the passage and used them as the answers.

For example, one of the candidates wrote ( e sa_f la df 0d8 £ 32 54
Ll pal) sty Jull 449 “Subject of this letter, I wish my friend to
congratulate him for receiving his certificate”. This candidate repeated
the words (Ll Listgd Juif 4iig5) “to congratulate him for receiving his
certificate” from the question as they were and used them as the answer.

This poor response shows that the candidates had inadequate
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vocabulary and insufficient knowledge of informal letter writing and
general knowledge of Arabic Language. Extract 9.1 shows a sample of
a poor response.
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Extract 9.1: A sample of a poor response from the candidate who provided
unclear explanation due to lack of poor mastery of Arabic Language.

On the other hand, the candidates who performed well in this question
were able to write good friendly letters. These candidates adhered to the
principles of informal letter writing. They correctly wrote the address,
greetings, main body and a conclusion. They also managed to write
their letters in a good logical flow, clarity and organization despite

some spelling mistakes and grammatical errors. For example, one of the
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candidates wrote a good response as follows ( <uSad iif slecad) Lilé itecw
Jia la b Uf wslilly | i) ittt HLidlgds Sheit Hinf ¢ o] driay o) of Ulas e
Ol gdial) (o S g ] pll) Lidlgeds cali 3 GLif < e Lates A2 | am very happy
that | was able to hastily edit my work with line. | congratulate you for
your studies. I am certainly very happy to know that you have received
your certificate and you are one of the best”. This indicates that the
candidates had a good command of Arabic Language. Extract 9.2

shows a sample of a good response.
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Extract 9.2: A sample of a good response from the candidate who wrote a
friendly letter adhering to the principles of informal letters.
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3.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 2

3.1 Section 1: Rhetoric
This section had two questions and the candidates were required to attempt
only one. Each question carried twenty (20) marks.

3.1.1 Question 1
This question had two parts (a) and (b). In part (a), the candidates were
required to complete the given sentences with appropriate words of
standard language “Fasahatul-kalimati” (4l 4alad. In part (b), they
were required to define the simile given with examples.

The question was attempted by 179 (76.8%) candidates. Among these
78 (43.6%) candidates scored from 12 to 20 marks, 48 (26.8%)
candidates scored from 7 to 11.5 marks and 53 (29.6%) candidates
scored from 0 to 6 marks. This shows that the candidates’ performance
in this question was good. The performance is summarised in Figure 9.

100.00 -
90.00 -
80.00 -
70.00 -
60.00 -
50.00 - 43.60
40.00 -
30.00 -
20.00 -
10.00 -

0.00 - . .
WEAK AVERAGE GOOD

Scores

29.60 26.80

Percentage of Candidates

Figure 9: The Percentages of the Candidates’ Performance in Question 1
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The candidates who scored high marks in this question completed the
sentences with appropriate words of “Fasahatul-kalimati” ( 4alad
4alsh). For example, one of the candidates wrote; 1- ( e 4l 4 ciuay
(gl D) gy Ghil ey gldl) Jdo @lii ) “Tanafuri-al-herufi”
(The repentance of letters) a word which is characterized by difficulties
in pronouncing it”. 2- ( Al Ly ¥y Ll dadly p lgleay Lol 4 iy
(Ll Jlaxiny) 4glla 49 “Al-gharaba” (The strange) is word whose
meaning is not clear and it is not commonly used”. 3- ( Jead 4alsl 4 dia
(bl dilie) Ligilll se/oll DS Lo lgitud) “Mukhalafatu-al-giyasi”
(Measurement violation) is a word whose formation process is against
the rules of the particular language”. 4- ( Luaill so/sdll & Ao 2SN £ 2
cilil cird) 54,ha) “Dhaafu-taalifi” (The weak authorship) is a word
which violates grammatical rules in a particular language”. 5- ( ¢ Jad
il plS ) (535 Laa L) gib)ga & W LT o] gladi Of iy A cilalSh
(ssizad) Lidl)) ““Taagidu-al-maanawiyyu” (Complexity) is separating
words which were supposed to be adjacent in a sentence”.

In addition, they managed to provide definitions of simile given with
examples as required. For example, one of the candidates wrote: 1-
(LS uif 2 flo il 519 4d ST La 98 Juupall 4uuidil)) “Tash-bihu-almur-
salu” is phrase which compare dissimilar things using words such as
like. For example: You are like a lion”. 2- ( 44 S& af Lo g4 ASpall 4udil
sludll 4 wad cif s fia 4udil 519) “Tash-bihu-almuakkadu” is phrase
which compare dissimilar thing without using comparative words. For
example: You are the sun in terms of brightness”. 3- ( e s Juadal) 4l
Lgl plts il cfie duddl 49 44 s) “Tash-bihu-al-mufasswalu” is
comparing things by mentioning what makes them a like. For example:
You are like a flower in terms of colour”. 4- ( 4ie <iis Lo g8 Janalf 4pdilf
axdlls Labld ad :fia 4udlf 4a4) “Tash-bihu-al-muj-malu” is comparing
things without mentioning why they are similar. For example: Fatima’s
hairs are like charcoal”. 5- ( &f sfis , 4uddl 4a g9 4udill 519 4da cida La g8
¥ “Tash-bihu-al-balighu” is comparing things without comparative
phrase and reason why they are similar. For example: You are the
moon”. This good performance shows that the candidates had sufficient
knowledge of metonymy. Extract 1.1 shows a sample of a good
response.
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Extract 1.1: A sample of a good response from the candidate who
completed sentences with suitable terminology of purity of language and
defined simile given with examples as required.
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Conversely, the candidates who scored lowly in this question were
unable to complete the sentences with appropriate words “Fasahatul-
kalimati” (4al<h 4alad). They failed to provide the definitions of simile
with its examples. Most of them wrote their answers randomly. For
example in item (a-3), one of the candidates wrote; ( Jea 4al<ff 4 déa
(Al Lieil) Lgilll so)gdl) S Lo lgiiua) “Taa-gidulafdhiyyu” (Word
complexity) is a word that characterized by morphological structure
which is against the rules of language” which was incorrect. The correct
answer was supposed to be; ( $Ldl DS Lo lgituo Jrad Lol 4 dic
(bl dilie) 4 4ith) “Mukhalafatu-al-giyasi” (Measurement violation)
is a word that characterized by morphological structure which is against
the rules of language”.

Other candidates wrote terminology of clearance of speech instead of
terminology of clearance of the word. For example in item (a-1), one of
the candidates wrote ( i (Jbill s g Sladll Ao glil A o4 dalsl] 4 cdicg
(<lds L)) “Tanafuri-al-kalimati” (The dissonance of words) a
description in words leads to a description in words leads to be difficult
and hard of pronouncing them” which was incorrect. The correct
answer was supposed to be; ( ey gludl o glid I so4 dalsl 4 chay
(gl L) g sbi) “Tanafuri-al-herufi” (The dissonance of letters)
a description in words leads to be difficult and hard of pronouncing
them”.

There were also some candidates who provided irrelevant answers. For
example in item (a-5), one of the candidates wrote; 5- ( <lalSlf G Juad
il glS A sdpy L LY lgiblga oo Wl 5 elali Of cag A
(Cxiy))) “Al-isitiara” (Metaphor) the separation between words that
were adjacent or delayed from the original places. This leads to the
disappearance of the original meaning” which was incorrect. The
correct answer was supposed to be; 5- ( &/ i of ey Al clalsl G Juad
(sl Liil) ol el ) g3 Lao Liba¥) lgib)ga oo W pil) “Taagidu-
al-maanawiyyu” (Complexity) the separation between words that were
supposed to be adjacent and delayed from the original places, which
leads to the disappearance of meaning”.
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In part (b), most of the candidates were confused with definitions of
types of similes given in the sentences. For example in item (b-1), one
of the candidates wrote; (.4uddl b/ 44 Si Le 38 Juupall 4padill) “Tash-
bihu-almur-salu” (The transmitter simile) is that the particle of the
simile was not mentioned in the simile” instead of writing; ( 4w/
LML cuif rfia i) 513 4 ST La g8 Jepa)) “Tash-bihu-almur-salu” is
phrase which compare dissimilar things using words such as like. For
example: You are like a lion”.

Other candidates failed totally to provide the definitions of types of
simile whereby they used the word simile instead of the particle of the
simile. For example in item (b-1), one of the candidates wrote; ( 4w/
A dudia cdisg dude ST 4pdi 4 Jupad) “Tash-bihu-almur-salu” (The
transmitter simile) is that the simile was mentioned and the simile to it
was skipped” which was incorrect. The correct answer was supposed to
be; (2edls il sfia Auddl 510 44 4S5 Le g8 Jusal 4pddl) “Tash-bihu-
almur-salu” is phrase which compare dissimilar things using words
such as like. For example: You are like a lion”. This poor performance
shows that the candidates had insufficient knowledge of metonymy.
Extract 1.2 shows a sample of a poor response.
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Extract 1:2: A sample of a poor response from the candidate who provided
irrelevant answers to all the questions given.

3.1.2 Question 2
This question had two parts (a) and (b). The candidates were required to
point out metaphor and its 48 “relation” and 4L & “indication” from
the given sentences. In part (b), they were required to show the area of
metonymy and intended meaning from the given sentences.
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This was the worst performed question in this section. It was attempted
by 51 (21.9) candidates and their performance was poor. This is
because 49 (96.1%) candidates scored from 0.5 to 6.5 marks and only 2
(4.8%) scored from 7.5 to 11 marks.

Data analysis shows that most of the candidates did not attempt this
question. Many of the candidates who attempted this question
performed poorly. These candidates failed to point out metaphor and
their proper sense. Also, they failed to mention its <& “relation” and
44440 “indication” from the given sentences. Some of them provided
irrelevant answers. For example in item (a-1), one of the candidates
wrote; (dgldall 4 ADlally dY 4 k7 :4&dsl) “The bounty expels poverty
and drought as a truth and its relation is to expel”. The correct answer
was supposed to be; (2 Lidlly dgoldiall 4 LDl g Liutad(y 44N 3 b : jlaal)
Ok Y Lagi¥ dil 4als) “The bounty expels poverty and drought is a
metaphor, its relation is a similarity and the word bounty and drought
are an indication because they cannot be expelled”.

Majority of them failed to point out the intended meaning from the
given sentences. Some of them wrote types of metonyms such as
metaphor of an adjective. They explained relation instead of identifying
the position of metonyms in the sentences given. Others provided
irrelevant answers. For example in item (b-4): (gl selay OO S <)
“Someone became old age and precursor came to him”. One of the
candidates responded as follows; (sl 4pwaially diall e 4L “The
metaphor is adjective and its meaning is death” which was wrong. The
correct answer was supposed to be; ( 4 Lswldally pill dals LLSH l<a
cwl) “The area of metonymy is the prognostic and it means the gray
hairs”. This suggests that the candidates had inadequate knowledge of
metaphor and metonymy. Extract 2:1: A sample of a poor response
from the candidate.
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Extract 2.1: A sample of a poor response from the candidate who pointed
out metaphor and its relation from the given poems incorrectly.

However, there were some candidates who had an average performance
in this question. These candidates were able to provide correct answers
particularly in part (a). For example in item (a-3), one of the candidates
wrote; ( Uaiuy g ¥ dals o 4L il dgldall Dty ¥ clic) : jlaal)
ua i of ua ¥ “The land became sick: metaphor: its relation that it is
an association by Seif dolla and Land. The indicator of the metaphpr is
that land cannot become sick.”

In part (b), many of the candidates were able to identify metaphor in the
given sentences but they failed to write the intended meanings. For
example in item (b-5), one of the candidates identified the metaphor but
he did not write its meaning as follows 5- ( 4w Jiaid/ cuw & (o] Jics
cludl) 546 4 1is : )i “The Arab was asked why his hair caught fire. He
replied that this “Ragh-watu-ashababi”. (cbdd 566 :Aals LU Ji<a)
“The metaphor is “this young froth”. The correct answer was supposed
to be; (Bussdl e cudl) 4 Jpaially cludd) 558 4 :4als LU iSe) “So,
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the metaphor is the word Ragh-watu-ashababi and intended meaning is
being aged or getting gray hairs.
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Extract 2 2: A sample of a good response from the candldate correctly
identified the metaphor and its relation in sentences given. However,
he/she did not explain correctly the indication in items (a-1, 2 and 5).
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3.2 Section 2: Poems and Prose
This section had two questions and the candidates were required to attempt
one question. Each question carried twenty (20) marks.

3.2.1 Question 3
The question had parts (a) and (b). In part (a), the candidates were
required to complete the verses of the poem with right expressions by
filling in the blanks. In part (b), they were required to write the prose
from (A8 4 &L/ o A& L) “My son, your father has been exhausted” until
(&b plaicd 34 o€ ) “support that he helped to you”.

The question was attempted by 108 (46.4%) candidates. Among these,
53 (49.1%) candidates scored from 12 to 20 marks, 29 (26.8%)
candidates scored from 7 to 11.5 marks and only 26 (24.1%) candidates
scored from O to 6.5 marks. This shows that the candidates’
performance in this question was good. The performance is summarised
in Figure 10.

12-20

Scores
7-11.5
v
)]

[l

0-6.5
b
»

0 10 20 30 40 50 60
Percentage of Candidates

Figure 10: The Percentages of the Candidates’ Performance in Question 3

The majority of the candidates who performed well in this question
were able to complete verses of the poem by filling in the blanks with
correct expressions. Furthermore, they were able to write the prose
correctly from (4 48 i o) A &) “My son, your father has been
exhausted” to (& oleicd (&2 “support that he helped to you”. This
good performance suggests that these candidates had mastered poem
and prose well. Extract 3.1 shows a sample of a good response.
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Extract 3.1: A sample of a good response from the candidate completed
the poem with appropriate expressions.
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On the other hand, the candidates who performed poorly in this
question were unable to complete verses of the poem with right
expressions by filling in the blanks. They also failed to write speech
from (8 4 &L/ o) Ao &) “My son, your father has been exhausted” until
(& laial e 2 “support that he helped to you”. Most of them wrote
irrelevant answers due to lack of adequate knowledge of poem and
prose. A few of them just copied some words or verses from the
questions and used them as answers. Extract 3.2 shows a sample of a
pOOr response.
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Extract 3.2: A sample of a poor response of the candidate who copied
verses of the poems in questions 7 and 8 used them as answers.
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3.2.2 Question 4
The question had two parts (a) and (b). In part (a), the candidates were
required to complete verses of the poem by filling in the blanks with
appropriate phrases. In part (b), they were required to write the verses
of the poem from (saay gl ale Juwad ¥) “Do not think that the
education can serve alone” until (XYl 40dlll 4 Sl “The evil in
restriction and release”.

The question was attempted by 122 (52.4%) candidates. Among these,
80 (65.6%) candidates scored from 12 to 20 marks, 26 (21.3%)
candidates scored from 7 to 10 marks and only 16 (13.1%) candidates
scored from O to 6 marks. This shows that the candidates’ performance
in this question was good. The performance is summarised as seen in
Figure 11.
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70.00 - 65.60
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50.00 -
40.00 -
30.00 7 21.30
20.00 - 13.10
10.00 J
0.00 -
WEAK AVERAGE GOOD
Scores

Percentage of Candidates

Figure 11: The Percentages of the Candidates’ Performance in Question 4

The candidates who performed well in this question were able to
complete the verses of poem by filling in the blanks with correct
expressions. Moreover, they were able to write verses of the poem
correctly from (ssy gdl alell Suwad ¥) “Do not think that the education
can serve alone” until (Y, 248 4 sdlld) “The evil in restriction and
release”. This good performance indicates that these candidates had
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mastered the poems well. Extract 4.1 shows a sample of a good
response.
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Extract 4.1: A sample of a good response from the candidate who
completed filling in correctly the missing verses of the poems.

Despite the good performance so far identified, there were some
candidates who performed poorly in this question. These candidates
failed to complete the poems by filling in the blanks. Furthermore, they
failed to write the verses of the poems from (s4sy gdis alell Fuwand ¥) “Do
not think that the education can serve alone” until ( Ll 4 dtd
@EYl9) “The evil in restriction and release”. Some of the candidates
just copied some verses of poem from the questions and used them as
responses.

Others wrote verses of the poem which were not related to the demand
of the question. For example, one of the candidates wrote a traditional
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Islamic poem that people of Medina sang for Muhammad (peace be
upon him) upon his arrival at Medina as follows; ( ¢« * Lde lf 2lb -]
EM A o0 La * Lile 840 cing -2 £l clud) <1- The moon appeared on
us * from the valley of wada 2- And we owe it to show gratefulness *
where the call is to Allah” instead of Hafidh Ibrahim poem. The poor
performance indicates that the candidates were not familiar with the
poems tested. Extract 4.2 shows a sample of a poor response.
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Extract 4.2: A sample of a poor response from the candidate who wrote a
traditional Islamic poem that people of Medina sang for Muhammad
(peace be upon him) instead of Hafidh Ibrahim poem in part (b).

3.3 Section 3: History of Literature
This section comprised of two questions and the candidates were required to
attempt only one. Each question carried twenty (20) marks.

3.3.1 Question 5

This question had two parts (a) and (b). In part (a), the candidates were

instructed to answer the following questions.

1- What is prose?

2- Give the meaning of “Jahali” (ignorance) according to the given
text (Our ignorant ignorance effectively transcends ignorance).

3- Write the biography of any two poets during the era of “Jaahiliyya”
(ignorance).

4- How is one who lived in both era of paganism and Islam called?

5-  Who was authorised by the messenger of Allah (S.A.W) to respond
to the satire of the polytheists.
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In part (b), the candidates were required to explain five factors which
affected paganism literature.

The question was attempted by 225 (96.6%) candidates. Among these,
115 (51.1%) candidates scored from 12 to 20 marks, 40 (17.8%)
candidates scored from 7 to 11.5 marks and 70 (31.1%) candidates
scored from 0 to 6.5 marks. This shows that the candidates’
performance in this question was good. The performance is summarised
in Figure 12.
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70.00 -
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50.00 -
40.00 - 3110
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0.00 -~ T T
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Scores

51.10

17.80

Percentage of Candidates

Figure 12: The Percentages of the Candidates’ Performance in Question 5

The analysis of the candidates’ responses shows the candidates who
performed well in this question were able to define prose correctly.
They were able provide meaning of the word “Jahli” ignorance.
Additionally, they were able to write correctly the biography of two
poets who lived during the era of ignorance (Paganism) and Islam.
Lastly, they stated correctly the person who was authorised by the
prophet Muhammad (S.A.W) to respond to the satire of the polytheists.
Furthermore, they were able to write five factors which affected
paganism literature. This shows that the candidates were familiar with
Arab literature. Extract 5.1 shows a sample of a good response.
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Extract 5.1: A sample of a good response from the candidate who
provided correct answers in all items.

On the other hand, the candidates who scored low marks in this
question failed to define correctly the concept of prose. They also failed
to explain meaning of “Jahli” ignorance as used in the text given. They
were also unable to explain biography of two poets who lived in both
state of ignorance and mention the one who lived in both eraa of
paganism and Islam. Lastly, these candidates did not mention a person
who was authorized by the prophet (S.A.W).

Moreover, the candidates could not write five factors which affected
paganism literature. Most of them provided irrelevant answers due to
insufficient knowledge of Arabic literature. For example in item (a-1),
one of the candidates provided the meaning of figures of speech instead
of the prose. Another example is part (b), where one of the candidates
wrote the purposes of poem («iwslly L&) cslagl! dulasd) (raal) “Praise,
enthusiasm, elegy, love and attribute” instead of five factors which
affected paganism literature like ( «tdldadl el Ly ey all ADll) depuls
cad ] g ag ] g Lastl] agilin (Lssulsaad] agibin LISY 5 Lo laday) il Sba
Cildleally dulicl agit)  “The nature of the Arabic dynasty, Arab
geography, Arab social and moral life, their political life, their religious
life, their markets and economy, their mental life and mualagaati”. This
indicates that the candidates had insufficient knowledge of Arabic
Literature. Extract 5.2 shows a sample of a poor response.
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Extract 5.2: A sample of a poor response from the candidate who provided
irrelevant answers in all items.

3.3.2 Question 6
This question had two parts (a) and (b). In part (a) the candidates were
required to answer the following questions:-
1- Define “Al-maqala” (News article).
2- At what era did the speech grow?
3- Mention a new purpose that emerged in the Umayyad poem.
4- Write down the approach of the paganism poem.
5- In which era did Amrul-Qais live?
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In part (b), the candidates were required to explain only five effects of
Islam on the life of Arab.

This was the worst performed question in this section. It was attempted
by 4 (1.7) candidates and their performance was poor, as 4 (100%)
candidates scored from 0 to 2.5 marks.

The analysis of the candidates’ responses shows that the majority of the
candidates did not attempt this question. A few candidates who
attempted this question did not performed well. These candidates
provided unclear explanation due to poor mastery of Arabic Language.
Extract 6.2 shows a sample of a poor response.
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Extract 6.2: A sample of a poor response from the candidate who wrote
incorrect answers in all the items.
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3.4 Section 4: Analysis of Poems and Prose
This section comprised of two questions and the candidates were required to
attempt only one question. Each question carried twenty (20) marks.

3.4.1 Question 7
This question had two parts (a), (b) and (c). In part (a), the candidates
were required to analyse the given poem. In part (b), the candidates
were required to explain the event that the poet recited the verses. In
part (c), they were required to explain the meaning of the given words.

The question was attempted by 59 (25.3%) candidates. Among these,
41 (69.5%) candidates scored from O to 6 marks and 13 (22.0%)
candidates scored from 7 to 10 marks. Furthermore, 5 (8.5%)
candidates scored from 12 to 19 marks. The candidates’ performance in
this question was poor since a large number of candidates scored below
average. The performance is summarised in Figure 13.
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80.00 - 6
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20.00 A
10.00 A

0.00

Percentage of Candidates

WEAK AVERAGE GOOD
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Figure 13: The Percentages of the Candidates’ Performance in Question 7

Many of the candidates who attempted this question performed poorly.
These candidates repeated the poem given instead of explaining the
meaning of the poem. Some of them provided unclear explanations.
The poor response shows that these candidates had inadequate
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vocabulary and insufficient knowledge of Arabic poems. Extract 7.1
shows a sample of a poor response.
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Extract 7.1: A sample of a poor response from the candidate who
incorrectly explained the meaning of the given poem.

Despite the poor performance noted, there were some candidates who
performed well in this question. These candidates were able to analyse
correctly and in details the given poem. They mentioned correctly the
occasion in which the poem was recited. Also, they explained the
meaning of the given words. This good performance shows that the
candidates had sufficient knowledge of Arabic poems and good mastery
of Arabic Language. Extract 7.2 shows a sample of a good response.
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Extract 7.2: A sample of a good response from the candidate who
correctly explained the meaning of the given words.

3.4.2 Question 8
This question had two parts (a), and (b). In part (a), the candidates were
required to explain the meaning of the given poem. In part (b), they
were required to explain the meaning of the given words.

The question was attempted by 162 (69.5%) candidates. Among these,
36 (22.2%) candidates scored from 12 to 20 marks, 67 (41.4%)
candidates scored from 7 to 11.5 marks. Also, 59 (36.4%) candidates
scored from O to 6 marks. This shows that the candidates’ performance
in this question was good. The performance is summarised in Figure 14.
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Figure 14: The Percentages of the Candidates’ Performance in Question 8

The candidates who performed well in this question were able to
explain the meaning of the given poem in detail. They explained the
meaning of the given words too. This good performance shows that
these candidates had sufficient knowledge of Arabic poems. Extract 8.1
shows a sample of a good response.
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Extract 8.1: A sample of a good response from the candidate who
explained correctly the meaning of the poem as well as the meaning of the

words given.

However, there are candidates who performed poorly in this question.
They failed to analyse the poem given and thus unable to give the
meaning of the poem. These candidates also failed to explain the
meaning of the words provided. Instead, Most of them repeated the

words given which was not the requirement of the question.

Other candidates gave vague meaning of the text making such
meanings unclear and thus lacked clarity. As for words given to provide
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the meaning, the candidates provided incorrect meaning of the words
given. For example, one of the candidates wrote ( -g/ay «wd 238 - 2l
J# “The honor means soft words and the word getting means killing”
which were incorrect. The correct respond was supposed to be ( -uaad/
dsas -Gha g dalSy Gldy) o fdig £2e L) “The honor means what praises
and denigrates man and the word getting means to acquire” This poor
response shows that the candidates had poor mastery of Arabic
Language. Extract 8.2 shows a sample of a poor response.
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Extract: 8.2: A sample of a poor response from the candidate who
provided unclear explanations on the given poem.
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3.5 Section 5: Response to Readings
This section comprised of two questions and the candidates were required to
attempt only one. Each question carried twenty (20) marks.

3.5.1 Question 9
In this question, the candidates were required to explain about Ali Koja
and the reason that led to his trip for pilgrimage and the place where he
put his tractor.

This question was attempted by 182 (78.1) candidates and their
performance was poor. 122 (67.0%) candidates scored from 0 to 6.5
marks and 38 (20.9%) candidates scored from 7 to 11.5 marks. Only 22
(12.1%) scored from 12 to 18 marks. The candidates’ performance is
summarised in Figure 15.
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Figure 15: The Percentages of the Candidates’ Performance in Question 9

The analysis of the candidates’ responses shows that most of the
candidates performed poorly in this question. These candidates were
able to write the introduction but they could not explain about Ali Koja.
They were unable to give the reason that led to his trip for pilgrimage
and the place where he put his tractor. Instead they explained about the
child judge with Ali Koja and his friend the merchant Hassan who stole
his dinars due to misunderstanding of the question. Some of them wrote
unclear explanations and a few of them left the questions unanswered.
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The poor performance shows that these candidates had insufficient
vocabulary to express themselves in Arabic Language. Extract 9.1
shows a sample of a poor response in question 9.
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Extract 9.1: A sample of a poor response from the candidate who
explained in the first paragraph about Ali Koja and his friend merchant
Hassan in the court and second paragraph about the reason led to trip for
pilgrimage but their explanations were unclear.

Further analysis of the candidates’ responses indicates that there were
some candidates who were able explain to about Ali Koja and the
reason that led to his trip for pilgrimage and the place where he put his
tractor. They arranged and organised their points in a good flow, though
their explanations had some grammatical and spelling errors. This good
performance implies that, these candidates had sufficient knowledge on
the story and good mastery of Arabic Language. Extract 9.2 shows a
sample of a good response.
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Extract 9.2: A sample of a good response from the candldate who
explained about Ali Koja and the reason led to his trip for pilgrimage and
the place where he put his tractor as required.

3.5.2 Question 10
In this question, the candidates were required to answer the following
question: What did say Shailok when he came to ask him to lend him
three thousands dinars to his friend Basniyo and what did Antoniyo
replied?
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This was the worst performed question in this section. It was attempted
by 29 (12.4) candidates and their performance was poor, as 27 (93.1%)
candidates scored from 0 to 6.5 marks and only 2 (6.9%) scored from 8
to 9 marks. The candidates’ performance is summarised in Figure 16.

EWEAK
AVERAGE

Figure 16: The Percentages of the Candidates’ Performance in Question 10

According to the analysis of candidates’ responses, most of the
candidates who attempted this question performed poorly. Majority of
the candidates provided insufficient and unclear explanations. Also
their responses had a lot of grammatical and spelling mistakes. Some of
them wrote the story of Ali Koja and his friend merchant Hassan
instead of the story of Shailok and his friend Basniyo. This poor
performance suggests that the candidates had poor mastery of Arabic
Language and insufficient knowledge on the story of Shailok and his
friend Basnio. Extract 10.1 shows a sample of a poor response.
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Extract 10.1: A sample of a poor response from the candidate who

provided insufficient and unclear explanations due to poor mastery of
Arabic Language.
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Further analysis shows that, there were a few candidates who had an
average performance. These candidates did not provide exhaustive
explanations on what didi Shilok say when Antoniyo came to borrow
three thousands dinars from his fiend Basniyo and explain what
Antoniyo replied. Extract 10.2 shows a sample of such a response.

Lot oss abd 9ivne 18 e [5es ) )0 |10
N A 7 |

-

‘ 7 = T
;';)J\f,,‘wu o\)’gun,ﬁj)k, wood) Yol ope

'
el o B oy

i = v = ———
i = {re >L ols” \/Jf‘ AL.;/ \,9 cails B ool N
! ! N E < T g w T P g ! i

| ]

: =008 yopd Lo ks _po"_u;»_g_\{,)g;gg, fL ]
== —

-—CJJ\QD s i oS w)_aa.]\ Lé' &.9)«94—*'

P Baslly s nom s Rra 5N e WG
e T i e f,.

STV E A PO P ATIC T 3 Vi R

Ef‘av&ﬂjw.,‘) ‘/L‘QVMI\M OMM

;__,wﬁ,,,ﬁ,,f)y\a,y_.tg‘,!gm_ﬁ_z.g,a_ 58 pley S0 g !
It m“_-v ‘ML} zu._J»aJ Lz) U\él a5 g 1014) |
| 5

g L\@&L\A}_W D M
**’4_""%-17\’ j}wjz, | \_\2)_\7»-\ O a‘,\p—)\ o_—»%)b ")BLN-‘

amd) o, % ( N Y Wle 4_>_=JJ‘,>\—'§:>_; | .

Lﬁ 5'\)._,0 O e gaod e LLJ\_J:i ‘ ot

7l



-

s . , - \
T ST YT
rw O o Jroa

dbs b Lo ol bV s Gty sl e
> e Ui §

[ O

ﬂ@;@'—ﬂ%&\x\-c Mu‘;)l,@}{)
;J_/ - J o :'_" L r el

(-0 e -L(/L"u()\ e 3% V5% O ya) Nloes

| ;E‘S;‘SLP Ssn\.\_‘l\, \“'; \‘-')\_4 \.C.-—" ('Omu.ﬂ
L vV - 7 ~

- '-’l»'l-c v\—'=_> \:L “)}_,\:_;\;) 3\, \'3\.9 \‘9)7\; C:%‘

EYSSR YD, ;\)v) CAIWVE V) S br‘ \)U’ .,\L-l’)rl
= 7 am— —J g o
ST e SN S NP
[DAWN ‘}M ) \,.,«:l.r Jeey | ;"AL.?-vai Nl 4,—-%1‘1

can i, WY S e sl

J

Extract 10.2: A sample of a good response from the candidate who
explained about Shilok said to his friend Basniyo when he came to ask
him to lend him three thousands dinars.

4.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC

The analysis of candidates’ responses in each topic shows that candidates had
good performance in Comprehension (96.6%), Poem and Prose (81.4%),
Morphology (65.7%) and Grammar (51.55%). These candidates performed
well in the following sub topics: reading for comprehension, poem and prose,
measurement, gerund, defective verbs, passive voice and types of objects
because they had adequate knowledge and skills. The candidates had average
performance in Analysis of Poem and Prose (47.05%), Language Use (42.1%)
and Rhetoric (37.15%). This shows that they had partial knowledge of the sub
topics; such as poems, “Al-istith-nau” (exception), “Fasahatul-kalimati”
(purity of language) and types of simile. The candidates had poor performance
in Composition (19.2%), Response to Readings (19.95%) and History of Arab
literature (34.45%) because they lacked adequate vocabulary and had no skills

in letter writing to express themselves well in the Arabic Language.
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5.0

6.0

CONCLUSION

The general performance of candidates in Arabic Language in the ACSEE
2019 was average. This performance could be attributed to the candidates’
good skills in reading for comprehension and adequate knowledge of poem and
prose, morphology and grammar. These skills enabled them to understand and
identify the requirements of the questions.

The analysis of candidates’ performance in Rhetoric, Response to readings,
composition, grammar and comprehension topic in the year 2019 has increased
by (8.4%) (8.2%) (7.3%) (3.55%) and (1.9%), respectively compared to their
performance in 2018. Contrary the candidates’ performance has decreased by
(13.3%), (3.85%), (5.3%) and (0.5%) in Language use, Morphology, Poem and
Prose and History of Arab literature, respectively in 2019 compared to their
performance in 2018.

RECOMMENDATIONS

In order to improve the performance of the candidates in the future, the
following are recommended:

(a) Teachers should put more emphasis on teaching the history of Arab
literature and metaphor.

(b) Teachers should guide the students to pay attention in listening to other
Arabic speakers and repeat what has been said. This will help them to
expand their vocabulary and understand how sentences are formed.

(c) Teachers should guide the students to improve writing skills in Arabic
Language by encouraging them to write different stories and articles. This
will help them to write correct answers in their examination.

(d) Students should be encouraged to read the recommended readings

including text books and reference books so as to acquire more knowledge,
vocabulary and skills in Arabic Language use.
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(e) Students should be encouraged to read inflection widely in order to
improve their grammar competences. This will eventually improve their
writing and speaking skills.
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Appendix A
Comparison of Summary of Candidates’ Performance in Each Topic

125- ARABIC LANGUAGE

SIN

Topic

Total
Number
of
Questions

2018 2019
The Remarks The Remarks
Percentage Percentage
of of
Candidates Candidates
who Scored who Scored
35 an 35 an
Average Average
Marks or Marks or
Above Above

4. | Grammar 2 48 Average 51.55 Average
5. | Literature 2 47 Average 47.05 Average
(Analysis of
Poems and
Proses)
6. | Language Use 2 55.4 Average 42.1 Average
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Appendix B

Comparison of Summary of Candidates’ Performance in Each Topic

125- ARABIC LANGUAGE
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